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fafeiad agust & T ST

(i) 994 MORE forgd
MO =6cm, OR=45cm, /M= 60°, Z0=105, ZR=105 &I

(i) ¥4 PLAN forad
PL=4cm,LA=65cm, ZP=90°, ZA=110", ZN=85 Bl

(iii) AR IgH HEAR forad
HE=5cm,EA=6cm, ZR= 85 Bl

(iv)  3mad OKAY forad
OK=7cm, KA =5 cm gl

g.IWI:

i) fRarsg: MO=6cm,OR=4.5cm, /M= 60", Z0=105, ZR= 105
AT IgUS MORE.
AT & TR

(a) MO = 6 cm &1 U Y@RES &1 1|
(b) £ 0 = 105" ST 3R O P! g HHHR R
A1 4.5 cm &1 T 90 §9@T S R R 105°
Fled gl
(c) Z R = 105 §9/T 3R Yol RE &I )
g wl Y&
(d) £ M = 60° SH/@T 3R Yl ME &I 6 cm
FEMAT| RE 3R ME U IR I E IR Wiowse Rl ¢ |
MORE 31y Tqywi 5|

4.5cm

(i) farg: PL=4cm, LA=65cm, ZP=90°, Z/A=110°, Z/N=85°
T IS PLAN.
A PATIE: L= 360"—(90"+85°+l10")=360°—285“=75°

TYAT & TR

(a) PL = 4 cm 1 U X@IES a4 N|

(b) £ P = 90° ST 3R YT PN & S| [

(Q ZL=75 T IARL B IEATRET | > 1107\ 6 om
6cm BT H AT M ANARPIAL | A

(d) £ A= 110" ST 3R YT AN I ST sl PL oyl

ST PN &I N TR Hledl g 4 cm
PLAN 3riy gqye g1
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(i) fearg: HE=5cm,EA=6cm, ZR= 85

T IR dgysl HEAR.
FEAPETR: L H= 180" -85 =95 [FHIR IqHS & A HIV G BId 8]
AT & TIOL: R A

(a) HE = 5 cm &1 U&h Y@RES a1 85°

(b) £ H = 95° S/ 3R H &I &g AHHR BT 60om bl

6 cm 1 Ueb 910 ST Sl AR 1 R TR STl
g

(¢) RH &! e

(d) ZR= £E = 85 S 3R E &I g AFHR BT 6 cm FT T 19§11
S RA BT A TR BTl g

(e) RA @ fiamn|

HEAR 31ty IR T4 &

- (] \
g8 85
H—— E

5cm

(iv) fears: OK=7cm,KA=5cm
T 3Td OKAY.
I & T
(a) OK = 7 cm &1 U6 JQ@RIS S|
(b) Z0= ZK= 90" T |
(c) O Bl Hg HHSBR AT 5 cm H1 T ITT T 11 Y TR HIedl § 3R K Bl g
AR 3591 5 cm &1 Teh 914 S0 9 A TR Hiedl |

(d) YA &! fieman)
OKAY 31+ 3mad g |
. .
5cm
90° 90°
0—| L] K

7 cm
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